PRSI SRR

Standard cylinder accessories

www.chinapneumatic.com
(€ 1S09001:2000

www.chinapneumatic.com
C€ 1S09001:2000

SRS

Standard cylinder accessories

RS

Standard Cylinder Accessories

Hesral R R e D% | 32|40 | 50 | 63 | 80 |100|125| 160|200
Foot Bracket 2 Cylinder
; cnietilne AA | 153 | 169 | 173 | 184 | 199 | 210 | 249 | 328 | 380
AC | 134 | 140 | 149 | 158 | 167 | 174 | 213 | 288 | 320
AD 9.5 |145]| 12 13 16 18 18 | 20 | 30
AE 50 57 | 68 | 80 [ 97 | 112 | 140 | 180 | 220
@‘\ 5 AF | 33 | 36 | 47 | 56 | 70 | 84 | 90 | 115 135
wly Loae. AG |205|235] 28 | 31 | 30 | 30 | 45 | 60 | 70
AJ | 28 | 30 |365] 41 | 49 | 57 | 90 | 115 | 135
~6} {B AP | 9 |12 | 12 |12 |14 | 14 |16 | 18 | 22
AT 3 3 3 3 4 4 8 8 10
FAJFB %245 P& | 32| 40| 50 | 63 | 80 [100| 125|160 200
Flange BA [28.3[323[38.3]38.3|47.3[47.3| 56 | 63 | 81
BB |10 [ 10 | 10 [ 12 [ 16 [ 16 | 20 | 25 [ 25
BC | 47 | 52 | 65 | 76 | 95 | 115 | 140 | 180 | 220
BD | 33 | 36 | 47 | 56 | 70 | 84 | 90 | 115 135
BE | 72 | 84 | 104 | 116 | 143 | 162 | 224 | 280 | 320
) - BF | 58 | 70 | 86 | 98 | 119 | 138 | 180 | 230 | 270
a BH 65(65|65|85|105|105( 15 | 20 | 20
AJ_ [105]105]135]135] 5 | 5 | 19 | 25 | 25
AK_ | 6565 | 65|85 |105]105]125]165] 165
BP. | 7 |7 |9 [ |1|16] 8|2
T 33 | 37 | 47 | 56 | 70 | 84 | 110 | 140 | 175
TC iz P& | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200
Central Trunnion
EB | 113 | 126 | 138 | 164 | 182 | 210 | 264 | 336
EC | 63 | 76 | 88 | 114 | 132 | 160 | 200 | 240
, ED | 37 | 47 | 56 | 70 | 84 | 110 | 140 | 175
EE | 63 | 76 | 88 | 114 | 132 | 160 | 200 | 240
EG | 25 | 25 | 25 | 25 | 25 | 25 | 32 | 48
EPOll =5 | % [ | 25|25 |25 |2 o7
lzze Rt ET 30 | 30 | 30 | 30 | 40 | 30 | 38 | 44
- S 455 | 555 | 685 | 87.5 | 1075 | 1345 | 1725 | 2125
TC-M & Type HD DHC HoI HR
4-OHP Eﬁ X ]
z
&% E:
&
HB HE ]
HA ‘ HE
K42 Bore HA HB HC HD HE HF HI HJ HQ HR HT HP
40 110 80 455 22 109 86 815 50 23 2 12 12
50 110 80 55.5 2 122 ) 88 50 23 2 12 12
63 110 80 68.5 2 134 11 94 50 23 2 2 12
80 120 85 87.5 2 160 137 127 70 23 2 14 14
100 120 85 1075 | 22 178 155 136 70 23 2 14 12

pE 32 | 40 | 50 | 63 | 80 | 100|125 160|200

CAgE Bore
Single Earring Os pc _ Dd S 48 | 50 | 62 | 75 | 94 [ 112 [ 140 180 | 220
or T 33 | 37 | 47 | 56 | 70 | 84 | 110|140 | 175
S@- Pty DC | 34|34 | 34 |34 |48 48|50 | 55 | 60
X - 1
SN T AN DD | 14 |14 | 15 | 15 | 20 | 20 | 25 | 30 | 30
N AN B | oo DE | 12|14 |14 |14 | 20 | 20 | 25 | 30 | 30
e DJ |14 |14 |15 15|20 20| 25 |30 30
L eoe DQ | 16| 20 |20 |20 [ 32 [ 32| 70 | 90 | 90
@ il N MEI{Z 32-1000ICATICB, HATFTLURSL2MFRMERN SR, 1.8 2.18, BET
a“ TTREHREIE, N125-200 2FHEk.
CAand CB From 32-100,we can supply two kinds of materials products:
1.Iron material
2. Aluminium material. When placing order, please indicate product material. From
125-200 are all iron material.
CBXE os
Double Earring or B | 32 | 40 | 50 | 63 | 80 |100| 125160 | 200
CcT cc_CJ ore
[y CC | 19|19 19| 19|32 |32 | 50 | 55 | 60
& [T & . COlll 5 | 5[ 3|28 8 [2 3|30
R I~ CE 12 [ 14 [ 14 |14 | 20 | 20 | 25 | 30 | 30
e e s Ll o CJ | 13|13 |15 15|21 |21 [ 25 [ 30 | 30
""""" »CE CP | 16 |205|203|203[323[323] 70 | 90 | 90
1) @ CT |32 |44 |52 |52 6464 120]160] 160
o PAI | 41 [51.8]603]60.3] 738|738 130 | 170 | 170
% PBI [335]45.8| 54 | 54 | 655|655 |121.5/161.5] 1615
S0 ———1 S 48 | 50 | 62 | 75 | 94 | 94 | 140 | 180 | 220
T 33 | 37 | 47 | 56 | 70 | 70 | 110 | 140 [ 175
U N i ] N i
Y & #23L Joint / | B $##k Joint Y 8 Type
=8 2
=
1 } NH
\ (& /
i
YE$EEL Joint | BEL Joint J
12 Bore 32 40 50 63 80 100 125 160 200
NA 19 25.4 32 32 44.4 44.4 55 80 80
NB 20 24 32 32 40 20 5 54 54
NC 10 12 16 16 20 20 25 30 30
ND 40 48 64 64 80 80 110 120 120
NE 52 67 89 89 112 112 155 130 130
NF 15 24 32 32 40 40 40 35 35
NG 20 20 23 23 30 30 56 50 50
NH M10x1.25 | M12x125 | M16x15 | M16x15 | M20x15 | M20x15 M27x2 M36x2 M36x2
NJ 12 20 22 22 30 30 30 ) 40
NK 18 23 30 30 39 39 54 54 54
NM 10 12 16 16 20 20 48 40 40
MP 20 24 32 32 40 40 64 35 35
NQ 52 62 83 83 105 105 148 150 150
PA 25 328 39.3 39.3 53.3 53.3 64 91 91
PB 195 26.5 33 33 45 45 55 81 81




IIIII-MFIZE www.chinapneumatic.com
PNEUIEC (€ 1S09001:2000

1S06431 tRES LMY
IS06431 Standard cylinder accessories

ISO-UJ ZahiesL B I\a |8 |MC|MD |ME| MF MG[MH| M1 MK
Float Joint My 32 |s8|22] 7 [21]|26]115] 7 |10 [m10x1.25] 12
sl MK/ W 40 |s8|22| 8 [21[28[115] 8 |12 mi2x125]12
(menE e 50 | 90|27 | 10|41 [445] 20 |10 ] 17 | m16x15 | 7

B i1 o 63 [90|27 (1041445 20 [10] 17 [ m16x15 | 7

I = 80 |102| 20|13 [ 46|53 [ 24 |13 ] 22| M20x15 [ 10

A 100 [102] 29 [ 13 [46 |53 | 24 | 13 | 22 [ M20x15 [ 10

Mg |Mc| wp 125 |147|54 |13 |64 |62 | 39 | 14 | 30 | M27x20 | 9

MA 160 |251| 72|22 [115] 80 | 80 | 18 | 36 | M36x20 | 4

200 |251| 72|22 [115]80 | 80 | 18 | 36 | M36x20 | 4

ISO-PHS &fR#EEL
Fisheye Joint

#

Az
Be- |PA|PB|PC|PD|PE|PF| PG |PH

32 11| 26 | 10 | 21 | 43 | 56 | M10x1.25| 13
40 12 | 30 [ 12 | 24 | 50 | 656 |M12x1.25| 13
50 15 | 38 | 16 | 33 | 64 | 83 | M16x1.6 | 15

63 15 | 38 | 16 | 33 | 64 | 83 | M16x1.5 | 15

_ i 3 ,_,r.fj-E 80 18 | 46 | 20 | 40 | 77 | 100 | M20x1.5 | 15
o by i1 a

L AN 100 | 18 [ 46 | 20 | 40 | 77 | 100 | M20x15 | 15

s 125 | 37 | 70 | 30 | 51 | 110 [ 145 | M27x2.0 | 15

] PE 160 | 43 | 80 | 35 | 56 | 125|165 | M36x2.0 | 16

PE 200 | 43 | 80 | 35 | 56 | 125 | 165 | M36x2.0 | 16




